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1. The table below has three different hairdryer models. Which is most energy efficient?
	
	Model A
	Model B
	Model C

	Useful Energy
	450 kWh
	700 kWh
	600 kWh

	Energy Consumed
	520 kWh
	770 kWh
	630 kWh



2. Natural gas, with the heat content of 1030 BTU/ft3 is used to produce electricity.  BTU = a British Thermal Unit.

a. If 4.5 x 106 ft3 of natural gas is used, and the conversion is 65% efficient, how many kWh of electricity can be generated? 
One kWh = 3413 BTU.

b. If the electricity produced above is used to power an electric stove that has 79% efficiency, how many BTUs can be delivered by the stove?  
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L. The table below has three diferent hardryer models. Which s most
energy eficent?

Model & Model Miodei
Usehal Energy —[4S01Wh o0k SR
Energy Consumed {5201 TR S0

2. Natural gas,with theheat content of 1030 BTU/R is used o produce
clectricty. BTU = Britsh Thermal Unic.

a 1745 X100 of naural gas i used, and the conversion i 65%
efcent, how many KWh of lectriciy an be generated?
OnekWh= 3413 BTU.

b.Ifthe eectrictyproduced above i used to power an elecric stove.
that has 79% effcency,how many BTUs can be deivered by the
stove?




